SigTestl

library IEEE;

use IEEE.STD _LOGIC 1164.ALL,;

use |IEEE.STD LOGIC ARITH.ALL;
use |IEEE.STD LOGIC UNSIGNED.ALL;

entity SigTestl is
Port( Ind: in std logic vector(1 downto 0);
Ud: out std logic vector(1 downto 0);
Clk: in std_logic);
end SigTest1;

architecture Behaviora of SigTestlis
Signal A, B, C: std_logic_vector(1 downto 0);
begin

SigTest2

process( Clk)

B <= A; Bemagk
A <= Ind; raekkefalge
end if; '

-- Variable A, B, C: std _logic_vector(1 downto 0);

library |EEE;

use IEEE.STD_LOGIC 1164.ALL;

use IEEE.STD LOGIC ARITH ALL

use IEEE.STD_LOGIC UNSIGNED. ALL:

entity SigTest2 is
Port( Ind: in std logic vector(1 downto 0);
Ud: out std logic vector(1 downto 0);
Clk: in std logic);
end SigTest2;

architecture Behaviora of SigTest2 is
Signal A, B, C: std logic_vector(1 downto 0);
begin

process( Clk)
-- Variable A, B, C: std_logic_vector(1 downto 0);

begin begin
if ngng egge( Clk) then if Rising_edge( Clk) then
<= ]
C <= B;

A <= Ind, Bemagk
B <= A reckkefelge
C <= B; —

Ud<= C;
end if;
end process; end process;
end Behavioral, end Behavioral;
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VarTestl

library IEEE;

use IEEE.STD _LOGIC 1164.ALL,;

use |IEEE.STD LOGIC ARITH.ALL;
use |IEEE.STD LOGIC UNSIGNED.ALL;

entity VaTestl is
Port( Ind: in std logic vector(1 downto 0);
Ud: out std logic vector(1 downto 0);
Clk: in std_logic);
end VarTestl,

architecture Behaviora of VaTedtlis
-- Sgnal A, B, C: std logic_vector(1 downto 0);

VarTest?2

library |EEE;

use IEEE.STD_LOGIC 1164.ALL;

use IEEE.STD LOGIC ARITH ALL

use IEEE.STD_LOGIC UNSIGNED. ALL:

entity VaTest2 is

Port( Ind: in std logic vector(1 downto 0);
Ud: out std logic vector(1 downto 0);
Clk: in std logic);
end VaTest2;

architecture Behavioral of VaTest2is
--Sgnal A B, C: std logic vector (1 downto 0);

begin begin
process( Clk) _ rocess( Clk
beg\i/r?”able A, B, C: std_logic_vector(1 downto 0); P Varléble)A B, C: std_logic_vector(1 downto 0);
L begin
iIf Rising_edge( Clk) then i Rising_ edge( Clk) then
= o B = A raskkefelge
B = A Bemaak C = B; -
A = Ind raekkefglge Ud<= C;
end if; : end if;
end process; end process;
end Behavioral; end Beha\/iorah
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VarTest3

library IEEE;

use IEEE.STD _LOGIC 1164.ALL,;

use |IEEE.STD LOGIC ARITH.ALL;
use |IEEE.STD LOGIC UNSIGNED.ALL;

entity VaTest3 is
Port( Ind: in std logic vector(1 downto 0);
Ud: out std logic vector(1 downto 0);
Clk: in std_logic);
end VarTest3;

architecture Behaviora of VaTest3is
-- Sgnal A, B, C: std logic_vector(1 downto 0);
begin

process( Clk)
Variable A, B, C: std_logic_vector(1 downto 0);
begin
if Rising_edge( Clk) then
ud<=_¢C;
B = A:

nd reekkefaige |

A
end process;

end if;
end Behaviord;
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